PROFESSIONAL EXAMINATION BOARD

Police Constable Recruitment Test - 2016
7th August 2016, 12:00 PM

Topic:- General and Logical Knowledge
1)

Question Stimulus :-

X is the son of Y; Y and L are sisters; Z is the mother of L and P is the son of Z. Which of
the following statements is true? / X, Y #T13¢1g; Y 3R L 64 §; Z, L B! HIa1 € 3R P, Z &1 a7
g1 ¥ 3 o9 91 YT 99 82

e P and X are cousins / Paﬁvxa%%mé%'

e P is the maternal uncle of X / P, X & HHT &

* L is the maternal grandfather of X / L, X & AT &

® Cand P aresisters / C SﬁTPTst’ef%
Correct Answer :-P is the maternal uncle of X / P, X & AT §
2)

Question Stimulus :-

Who amongst the following cricketer has the distinction of having batted on all 5 days of a cricket test match? /

Fraffad frder 4 A forael fbdre e 1 & Tl 5 3 Teiamoll S &1 7Ra wTe 82
® Sunil Gavaskar / gHTdl TMA¥HT
* Geoffrey Boycott / U1 SRIBIC
® Vivian Richards / fafaa=T Raga
® Ravi Shastri / 3fd AT
Correct Answer :-Ravi Shastri / 3fd IRt
3)

Question Stimulus :-

Five people A,B,C,D and E are sitting in a circular path facing the centre. B is next after one
to A in the left. D is after two to C in the right. Then who is fourth to C in the right? / T
=R A,B,C,D Td E TH T 1T UY TR H% $I 3R & P 9 U 8| B, A & I 3R TP & d1¢ AT
D, C & il 3R S & 9IS AT & 99 C & SRif 3R | YT HI 82
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Correct Answer :-D

4)
Question Stimulus :-

If A+B means A is the brother of B, P/Q means P is the sister of Q and X*Y means X is the
son of Y. What does P/Q+R*S means? / e A+B FT3f S fF A, BHFTHUE 8, P/Q PT3d & & P,
Q P T8 8 3R X*xY &1 3 8 & X, Y 1321 8] P/Q+R*S &1 747 31df 82

° SistheuncleofP/S,Pﬁﬁ'ﬁT%
. SisthemotherofP/S,PaﬁTI'l?lT%
L] SisthesisterofP/S,Pﬂ%W%
) SisthenieceofP/S,Pa’ﬁm%

Correct Answer :-sis the motherof P / S, P &I HIdT &

5)
Question Stimulus :-

Sushrutha was also called, ./ gYd 1t a1 Srar o
* Father of medicine / 3TUF &1 S-P
® First Plastic Surgeon / U4H TATRE® Toi
e Jnana Degula / SI- é’ﬂ?ﬂ
¢ Father of Surgery / TRIPT & S
Correct Answer :-Father of Surgery / RRIfH T & o H
6)

Question Stimulus :-

Indian badminton player and the winner of the gold medal in the Asian sub junior championship who

%a%rninDharlwwmﬁmwmﬁmm,ﬁ‘H'R'
goll

@)



® Roop Singh / 3T Rig

e Asim Sher Khan / 3_IT 2R @

® Aditya Joshmi / &rrﬂw \_rﬁ?l'ﬁﬁ

¢ Ahmed Khan / S[gHqg W+
Correct Answer :-Aditya Joshmi / ITf&ed STIRAHL
7)

Question Stimulus :-
If mobile phone is turned on, then if someone cries then the rotator rotates. No one is crying because phone is turned
off. / 3R HIETSd B 3T fpar 74T §, dY afe HIs Iar & ot e THaT 21 IS 31 7Tef 8T & Fifp B &Y
3T fopam T & |

® True/ w

® False /TTAd

® Maybe /33[ HohdT %

® Irrelevant / TS
Correct Answer :-irrelevant / STURIRT®H

8)
Question Stimulus :-

If A+B means A is the brother of B, A-B means A is the son of B and A*B means A is the
sister of B. What does P*R-B means? / Ui A+B ®T 3 g fH A, B BT UE 2 Td A-B BT 3f § fh
A, B ®1 T3 8 Td A*B &1 31 § & A, B @ 98 8| P*R-B &1 @71 31 82

 Pisthe uncleofB / P, B T IT<T &

® Pisthe daughter of B / P,Baﬁﬁ%
° PisthenieceofB/P,Ba’?f‘H—cﬂTrﬂ%
° PisthenephewofB/P,BW‘l-l_cﬂTrlT%

Correct Answer :-Pis the daughterofB / P, B | EEﬂ %

9)

Question Stimulus :-

(4)



Who is the only Prime Minister to be sworn in thrice after Indira Gandhi? / ?{EQT Tmieh & CIFGIB IR

MUY A TS TP AT YUTHA DI 52

e PV Narasimha Rao / Gidl "RR¥HET @

e Rajiv Gandhi / IrSi1q Tieh

® Dr. Manmohan Singh / ST. 'FFITﬁ?:T ﬁl?

e Atal Bihari Vajpayee / 3IC¢l fysr areosdt
Correct Answer :-Atal Bihari Vajpayee / 3[Cd fyer ameudt
10)

Question Stimulus :-

The Prarthana Samaj was founded by / AT TS B RIUET R $
° MGRanade/@\_IﬁWI%
 Dayananda Saraswati / GUTFG gt
¢ Raja Ram Mohan Roy / XTSI ITH 'Fﬁﬁ I
e Jyotiba Phule / SAIfdaT Fa
Correct Answer :-M G Ranade / Q'Fﬁﬁ TS
11)

Question Stimulus :-

Select the option that is true about the Statements and Conclusions given: / 9§ fawe qﬁrq
st T T S wd Freesl & TR & 9E {1

Statements: / ©YH:

Some sweets are not stones. / 9 quﬁ%l
Some books are not sweets. / T3 frad frersar 781 1

Conclusions: / fAwd:

I. Some books are stones. / I. $© ﬁﬁﬁW?l

II. Some sweets are books. / II. $& fisral fHa g1
® Only conclusion I follows / mﬁ'ﬁlﬂf | FRrerdar %
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® Only conclusion Il follows / Wﬁwﬁf n freedan %
® Both conclusion | and Il follows/a']:ﬁ. ﬁW‘f | Sﬁ?' Il ﬁﬁ?f %
® None of the conclusion | or Il follows /ﬁ'ﬁﬂfl 1T | '\ﬁ aﬁéqﬁﬁﬁ?ﬂ %
Correct Answer :-None of the conclusion I or Il follows / et iarnda ?ﬁ'ﬁcqﬁﬁﬁ?ﬂ %

12)
Question Stimulus :-

Shankar said to Sanjay, "That boy playing football is the younger of the two brothers pf the
daughter of my father's wife". How is the boy playing football related to Shankar? / BT A

T A FET, “Peald T 8T TSHT Ax a1 ot uelt Ft 3t F g Uigal § A BieT 91 371 Feard Jd @71
ASHT THX ¥ S Fad 872
e Son / §el
e Brother / 4TS
* Cousin / T HIg
* Nephew / Yial
Correct Answer :-Brother / 4TS
13)
Question Stimulus :-

In the following question, there is certain relationship between the first two words. Choose the fourth word
from the following options which has a similar kind of relation with the third word. / g uy ﬁ, tl?ﬁ' @

Tl & dH foredt TR | P ey g Ay A o 9 @ wsg g e T o & 91y
Il PR &1 €Y B

DOCTOR : PATIENT :: LAWYER: ? / SiaeX : T3Sl :: gid: ?
* PASSENGER / Tl
e JUDGE / <ATTE=T
e CLIENT / UT6®
e CRIMINAL / 3MURTSH
Correct Answer :-CLIENT / Ulg®

14)

(6)



Question Stimulus :-

Select the option, which is the logical equivalent of the statement given below: / a8 fa&e

ge, ot 9 @1 =R} I FH fow v o371 & 9uE 8

“If Jones is in Los Angeles, then he is in California.” / “”qﬁ S &g ﬁﬁm ) qﬁ%, ?ﬁa's'
Ffermiiar & g1~

® |f Jones is not in Califonia, then he is not in Los Angeles. / qﬁ' g Wﬁcﬂ x| q'[?f %, dd dg
e Sofer # A8 71
® Jones is in Los Angeles, or he is in Califonia. / \—rﬁ?:[ g Q’@ﬁf\q o % 71 fbe dg Wﬁfﬂ ) %I
® |f Jones is in Califonia, then he is in Los Angeles. / qﬁ \_rﬁﬁ %%tﬁﬁ{ﬂ o %, dd dg GIE:] Q@'ﬁﬂ
i
® If Jones is not in Los Angeles, then he is not in Califonia. / gfe g | Q@Iﬁﬂ? | T-I'tﬂ %, dd dg
Ffermifar # 781 g1
Correct Answer :-If Jones is not in Califonia, then he is not in Los Angeles. /'CI'% \_rﬁﬁ WﬁQT )
T8 &, 99 98 @9 voifer A T8 B
15)
Question Stimulus :-

Girdhari Lal Yadav was conferred the Arjuna Award in 2009 for which of the following sports? /

Fafafea § 3 {59 9a & e FRURT @ra arga &1 ad 2009 ¥ 36H RYPR I WG fFar
T UT?

® Yachting / CICapC

* Wushu / 9%

® Wrestling / Q?Q_cﬁ

® Fencing / yeaTeit
Correct Answer :-Yachting / SICAE|
16)

Question Stimulus :-

Choose the number which is different from others in the group. / 3 H&IT HI ﬂﬁ'& ] LU # g1
S ¥ S 3

e 21

e 39
(7)



e 51
e 83
Correct Answer :-83

17)

Question Stimulus :-

J Ry R gddfr s

The world famous sun temple was built by
Tl

e Narasimha Deva / TRigdg
® Anangabhima Deva / 3T 'l-ﬂTITa'aT
e Jajati / STSITf

® Chodaganga Deva / @TFFIT%HT

Correct Answer :-Narasimha Deva / TRRig g9

18)
Question Stimulus :-

In the following question, there is certain relationship between the first two words. Choose the fourth word
from the following options which has a similar kind of relation with the third word. / g uy ﬁ, usﬁ iﬁ
wgmwwa% g e & 9 Ny g A e TR s & I1Y 3 PR o1
HdY 3|

BIOLOGY: ANIMALS :: ECONOMICS : ? / SHafa3 : SIHaR :: 3= : ?
e TEACHER / 3HTUH
 RESEARCH / 3IHYTH
e MONEY / BT
e suBlecT / fawg

Correct Answer :-MONEY / aﬂT

19)
Question Stimulus :-

A + B means A is the daughter of B / A+B ST a4 ¢ & A, B #1 Tt @

(8)



A — B means A is the husband of B / A-B &1 didd 8 f& A, B $1ufd @

A ° B means A is brother of the B. / AxB $1dicqd ¢ f& A, B &1 HE &

P+Q—Rmeans/P+Q—R$r3{2f%
o RismotherofP/R,Pﬁ'Fl'I_dT%
® Ris the sister-in-law of P / R,Pﬁ"\“ﬂ?ﬁ%
° RistheauntofP/R,PEﬁil'ﬁﬁ%
® Ris the mother-in-law of P / R,Paﬁ\‘lm%

Correct Answer :-Ris motherofP / R, P CAR:IGIN %

20)
Question Stimulus :-

Select the option, which is the logical equivalent of the statement given below: / dg fowea

g Siah s IR R wsH FIa= 8

She will come if and only if you invite her. / dg Mt Paa 3R Pad a9 afe My IT AT 31
e She will come even if you do not invite her. / Tﬂ% 3 I AT 7 ot +¥ a9 +ft dg S|
¢ She will not come even if you invite her. / Tl'fa' 3T I SmHEAT &Y it a9 +ft dg T'Iﬁ MM
¢ She will come if you invite her. / dg ST gfe 3y I SmHlAa B

® That she has come does not mean that you had invited her. / Hiife dg 3t %, APT Hddd Jg
T8I fo smuq 3/ SmwifAa fomar i

Correct Answer :-She will come if you invite her. / dg ST ?Tfa 3T I STHET P
21)

Question Stimulus :-

What is common between Damodar river in Chotanagpur and Narmada in Vindhya and Satpura? /

BITHNTYR ¥ greR <! 3ii fder ik JaysT A e & i war e 32
® Both have huge catchments/ aﬁrﬁﬂmwﬂ%

® Both have common source/ Eﬁ*ﬁ 3H @T‘[ %

©)



. goth are used only for hydel projects / &Il U=l foerail ufeaoTsi & fore 81 swaura fooan smar

® Both are flowing through rift valleys/ E.'-'Fﬁ' R} gifedl & ATeIH A d% Tﬁﬂ' %

Correct Answer :-Both are flowing through rift valleys/ SH SRR TIfedl & HTAN A T8 Bl ©

22)
Question Stimulus :-
Ranathambore tiger reserve is in which State? / TUT?I‘J-ﬁT Y AHIRYY 5 3T | %?

e Punjab / USId

* Gujarat / JOIRTd
® Rajasthan / ITSTRITA
e Jammu and Kashmir / WW

Correct Answer :-Rajasthan / TSI

23)

Question Stimulus :-

Six students A, B, C, D, E and F are standing in a row. B is between F and D. E is between A
and C. A does not stand next to either F or D. C does not stand next to D. F is between
which of the following pair of students. / ©: F A, B, C, D,E Ud F U® Ufad & @S &| B, FUd D
PHAE| E,ATICHAAE| A, FATD & Id & 81 WST 2| C, D P U -8l Wel 2| F Huferfad
fPg o= # SISt & " TSI 82

® BandD /BTd D
* BandA / BTG A
® BandE/ BTJE
® BandC/BTWdC
Correct Answer :-BandC / BTAd C

24)

Question Stimulus :-

In a special lecture series assignment, three teams of professors are to be made. Each team
will consist of two of the professors - G, H, I, K, L, M. Each professor will be on exactly one
team. Each team is assigned to exactly one of the three seminar halls in the university: Hall
1, Hall 2, and Hall 3. Professors I, L, M have specialization in Economics while G, H, and K

(10)



do not have it. G,H and I each have been with the university for at least three years while
K, L, M have not been so. While assighing duties the following conditions are to be
observed.

Each team must include at least one specialist in Economics.

Each team must include at least one professor who has been with the university for at least
three years.

Professor G must take his lecture either in Seminar hall 1 or Seminar hall 2.

/ T faRiv saremaEr Fad a1 #, MR &1 O 39 3991 §] Qe 9 A 399 ¥ 3 MR 81 - G,
H, I, K, L, M| Y& WWhR 31 TH S A 51| T < faxafdanea & o9 999K gial: gia 1, §1d 2,
3R gfa 3 # ¥ gurdad ve & Fad ghft] MBI, L, M & I rfod # fafrdiorur @ siefé G, H, 3R K
¥ U TTEl 8] G,H 3R I fazafenaa & 91y 9 9 &0 &9 a9 ¥ 93 §¢ € 99 K, L, M 781 92 g0 €]
P B a9, Fy uRfRufaar iféa st 8]

TP W H AT 1 $H A HH T faxivgy e giHr gy

g}mﬁmﬁmﬁmwmmﬁa@mm@ﬁﬁﬁﬁmﬁw%wumﬁwﬁqﬁﬁwgm
I

MBI G YT ARSI FHHR 8 1 91 R gidT 2 # @

If L is to take a lecture in Seminar hall 3, which of the following must be true? / Ife L &Y

TS FHHR gl 3 # A1 &, @ 7 & 9§ S a1 9 141 a1fed?
e GisM'spartner. / G,M &1 | %I
e MtakesalectureinHalll. / M ﬁ'(“[ 1 ﬁﬂ]@'ﬁﬁﬂ%l
® Gisl's partner. / G, L T |1t %I
e HtakesalectureinHalll. / H E\T’F[ 1 ¥ RS aﬁT%I
Correct Answer :-Gis M's partner. / G, M DT it %I
25)

Question Stimulus :-

Gandhi Peace Prize was awarded in 2014 to: / 2014 B TTelt =Tifal YRR ¥ frae! g fear mn
T

e Bharatiya Vidya Bhavan / HIRdg fa€m 4a+
e Chandi Prasad Bhatt / I&1 Udlq Hg
® National Disaster Response Force / ?Tg}q STUST T 96

(11)



® Indian Space Research Organization / YR 3fefee WWW
Correct Answer :-Indian Space Research Organization / YRAI 3fdaiver WWW
26)

Question Stimulus :-

India has entered into Mahakali treaty with for implementation of Pancheshwar Multipurpose

Project./ HRA A ___ & WATY TR ISR URAISHT & Hra-aa+ § HeTHral GiY 8 ya=r fear gl
e Sri Lanka / ST
 Bhutan/ Ye{
o Nepal/ﬁ'q'lﬁ
e Pakistan / UTfh<dT
Correct Answer :-Nepal / TUTd
27)

Question Stimulus :-

A railway network links some towns in a country such that tracks lie between M and N,
between M and O, between O and R, between R and T, between R and U, between T and
P and between P and S. No two tracks intersect each other except at the towns. A train can
travel from P to N only in that direction and not back. / TP ¥6d Hedd ¢ & [3) TRI B B
TRE A e P TeRATI MR NF T, MR O F &9, OMRRF I, RIRTFHF IF, RARU P
¥, T 3R P & 9 3R P 3R s & o7 YT 5| F1F 2t 3 vefval TR 31 slewr w8l W T gav &)
gfasse Tl Bl | TP YA P & N $aa g3l fa=m § amr &% Iodl § ok 0 3t fa=m & =1 ]

If the track between M and O is broken, which other track is affected? / gie M 3R 0 & &g &t
TSt g S 7, O BT AT 3 ued yyifad gz

e RtoM / REM
e PtoM /PIM
e NtoS / NUS

* NtoM / NEM

Correct Answer :-NtoS / N ds

28)

Question Stimulus :-

(12)



Which of the following districts does NOT belong to Gwalior division? / Frafatea o 4 9 P9 AT
forem maTferR FyTT @1 8 B2

e Bhind / TS
® Ashok Nagar / 3P TR
e Guna / TUIT
e Shivpuri / ﬁﬁgﬁ
Correct Answer :-Bhind / s

29)
Question Stimulus :-

In 2005, who became India’s first Formula One racing driver? / 2005 ﬁ, q?ﬁW\lﬁiﬁT CEEI SIgdr
DI I A2

e Vijender Singh/ fao==Rig

® Vijay Mallya/ oo A

® Narain Karthikeyan/ \TIRTHU[ PIfdpad
¢ Karun Chandhok/ U GSIH

Correct Answer :-Narain Karthikeyan/ TRTIUT STfdbaT

30)
Question Stimulus :-

The river that separates the western and eastern part of the Gandhisagar sanctuary is J :Ia

el AR IYARUY & it 3R gdf UnT Bt Srert w81 -
® Chambal/TIqd
e Ken /b
e Son/HH

* Yamuna / HAT

Correct Answer :-Chambal / 9dd

31)

(13)



Question Stimulus :-

Select the option that is true about the Statements and Conclusions given: / dg fawey ﬂﬁl’E
wil fioT T By wd Fremsl & R & 9E 81

Statements: / $Y:
Some lamps are villages. / $9 A g %l
No villages are dogs. / aﬁé ft i ﬁ?&ﬁ%l

Conclusions: / fAehd:
I. All villages are lamps. / I. 9+ g @ 1

II. Not all villages are lamps. / II. 9 79 & T8l 2

® Only conclusion I follows / *ad Ay | Reddar %

® Only conclusion Il follows / Wﬁ'@ﬁf n fFreedan %

® Both conclusion | and Il follows/ﬁ ﬁl’lﬁﬂf I Gﬁ? 1l ﬁﬁﬁlﬁ %

e None of the conclusion | or Il follows /ﬁwﬁfl AudE aﬂ'sfﬂ'&rﬁm %
Correct Answer :-None of the conclusion | or Il follows / g 1 arn & I aﬁs‘ﬂﬁﬁm %
32)

Question Stimulus :-

Non Resident Indian (NRI) day is celebrated in India on __ ./ SfaRit YRda ('E:f\?ﬂ'\"&l'l_st) feaa UrRa
#_ o g gl

e 9 Fehruary /9 CIRV G|

e 10™ February/ 10 df Rast
e 10™ January / 10 g SFa}
e oth January /9 df Sast

Correct Answer :-9th January / 9 &Y =G

33)
Question Stimulus :-

Film and television Institute of India is in ./ HIRd &T flhed 3R Tefifae SR _ﬁ B

(14)



Thane / BTl?f

Nagpur / RTYY

Pune / 'gTPf
Nashik / TRI®

Correct Answer :-Pune/ Q'U'T

34)

Question Stimulus :-

How many union territories are there in India? / HRd 'el mﬁ a?_s(" 'Q'IT@R‘I' 'Q%QT %:?
5
6
e 7
* 29
Correct Answer :-7
35)

Question Stimulus :-

is the largest state in India by area./ 833[ F WY T URd A I CEIR N %I
e Uttar Pradesh / STR Yo

® Rajasthan / TSI

® Maharashtra /HgIRTY
e Tamil Nadu / AT

Correct Answer :-Rajasthan / ITSIRIT

36)
Question Stimulus :-

Pointing to a girl, a person said,” She is the only daughter of the only son of the wi.fe of the
father-in-law of my wife". How is the girl related to the person? / T® dsH! P 3R Jbd Hd

gq_,wgnaﬁﬁw, a8 A Uelt & R P Uell S sHAld I BT sHalel 91 371 TSB! e A FQ
Heferg 82

(15)



® Niece / Yeftelt
e Daughter / adt

® Sister / dgd

* Daughter-in-law / d§g
Correct Answer :-Daughter / 3¢t
37)

Question Stimulus :-

Select the option that is true about the Statements and Conclusions given: / dg faeea ﬂﬁtf
S f3T ¢ $YAT ud eyl & 9 § 9 21

Statements: / ©YH:
No chairs are buckets. / ®1§ W} FRIT ared 781 &1
Some stories are not buckets. / S FHBIGI Fiec] 8l &

Conclusions: / fea:
I. Some stories are chairs. / P9 Wﬁﬁ?ﬁh’f%l
I1. All chairs are stories. / I HRIAr werar g1

® Only conclusion I follows / Had fAwey | Aedar '%
® Only conclusion Il follows / *Had e 1| Feradar %
® Both conclusion | and Il follows/aﬁ ﬁw‘cf I Gﬁ?' ] ﬁWﬁ %
® None of the conclusion I or Il follows /ﬁ'ﬁ)’ﬂfl TR K| aﬁ'{fq'eﬁ IGEANGI %
Correct Answer :-None of the conclusion I or Il follows / e iarnda ﬁs‘qﬁ IGEANGI %

38)
Question Stimulus :-

Following are the three views of a cube. Which of the following options is opposite to the face shown at the

right? / T o9 & 91 T2 2| g & @ 19 91 faoey gt ok R 1 wae & Audia 22

(16)



% &

GO GE

%

Correct Answer :-

39)
Question Stimulus :-

Which Article deals with Emergency and President’s Rule in States? /I T Gﬂ@? SIS 3R

T4 B APATeT A ST ST &l 62
o Article 356 / 375G 356
e Article 368 / 3ITIG 368
e Article 372 / 3G 372
o Article 370 / 3 TG 370

Correct Answer :-Article 356 / 3JE5¢ 356

40)
Question Stimulus :-

Who was the first Chief Justice of the High Court of Madhya Pradesh? / H& U= ﬁﬁw & Ugd qB7
=rarefir B &2

e Justice G.P. Bhut / =amarshizr si.dt.ug

(17)



e Justice P.V. Dixit / =graTe=r 4t 4t Siféra
e Justice M.Hidayatullah / <ITITEN=T U0, feeragedrs
e Justice A.M. Khanwilkar / ITaTHI=T U.TH. LCIE ICISERY

Correct Answer :-Justice M.Hidayatullah / <ITIT¢=I TH. fRqradedrs

Topic:- Mental Ability and Mental Aptitude
1)

Question Stimulus :-

How many liters of acid are there in 12 liters of a 20% solution?/ 123‘ﬂET 20% ﬁWﬁﬁﬁlﬁ'?ﬁﬁ W@T‘IT%?
. 2
e 3
e 2.4
e 2.8
Correct Answer :-2.4
2)
Question Stimulus :-

In a certain code GREATNESS is written as HQFZUMFRT. How is GOODNESSS written in the code? / Tl @Td @®ie

H GREATNESS I Tor@T SITAT 8 HQFZUMFRT| 39 P18 H GOODNESSS @1 &a ferar SIram?

® FZHQFRT
® MOQDPEST
® JMOERTS
® HNPCODTR
Correct Answer :-HNPCODTR
3)
Question Stimulus :-

What is the minimum number of straight lines needed to build the following figure? / IBE] GﬂTﬁf & g9 & ol
g9 I@T A feadt S Yarsi $t smazasar ghft?

(18)



e 8

e 9

e 10

e 11
Correct Answer :-9
4)

Question Stimulus :-

70% of the students of a college are from a school under the same management. 60% of them are boys. What percentage of
the total are girls from the school under the same management? / Tdh Pl & el o1 70% I ydeq &
%rsﬁqwﬁamﬁé'l 3749 A 60% Ts® g| I yaed & A faarea d asfeal ot o ufdzmaar «n
?

e 42

e 18

e 28

e 72
Correct Answer :-28
5)

Question Stimulus :-

By selling article for Rs. 480, a man gains 20% on the cost price. At what price should he sell it to gain

30%? / 480 IUA | TP qH,g B! fAh] HP, TH SMTGH! B! ART e TR 20% ATY gial 81 34 I8 a¥g o piaa
TR Sg-1 13T fob 3 30% AT §I?

® Rs. 420/ ¥4UY 420

(19)



® Rs. 520/ FUY 520

® Rs. 320/ ¥FUT 320

® Rs. 120/ U 120
Correct Answer :-Rs. 520 / =UU¥ 520
6)
Question Stimulus :-

Complete the series choosing the missing number: / ﬁﬁ'ﬁl J=0 EGEES simnaﬁ\m aﬁﬁrﬂ:{ :

22,15,8,1, , =13

° .10
Correct Answer :--6
7)
Question Stimulus :-
If "Cy, ="Cgthenn=? / Tfg ", ="y Al n=?
e 20
e 12
e 6
e 30
Correct Answer :-20
8)
Question Stimulus :-

What will be the next term in the series? / §&aT T 3FTAT UG FIT THIT?

A, CD, GHI, MNOP, __

(20)



® VWXYZ
® UVWXY
® TUVWX
® STUVW
Correct Answer :-UVWXY
9)
Question Stimulus :-

CANCELLED
If A:B = 11:7 and B:C=2:3 then find A:C ? / Af¢ A:B = 11:7 3R B:C=2:3 § @l A:C

IBEISLY
e 22:51
e 50:23
e 47:53
e 11:12
Correct Answer :-22:51

10)

Question Stimulus :-

How many seconds will a 250m long train take to cross a man walking with a speed of 4kmph in the direction of the

moving train, if the speed of the train is 58kmph?/ '*T% 37{ &1 g ssfepi/der %, 2504 el aTI, a? 3| ﬁ
fo=m & a1 35 T STgHt B UR B3+ d fhaa s amait?

Led |
3] =

GEE

sec/ 16

1 1

® 16 sec/ 16 m

* 16sec/ 16 DS
2 2
3 3

® 16 " sec/16 = IAbS
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|
| 2

Correct Answer :-16 ~ sec/ 16 = UHS

11)
Question Stimulus :-

The probability of losing a game is 2/3. What is the probability of winning a game? / T&%
W FRA Dt UTGAT 2/3 T TP Wd Siid Dt WHIGHT T 82

e 1/3
e 1/2
e 2/5
e 1/4
Correct Answer :-1/3

12)

Question Stimulus :-

In a certain code language, fil wil til means tell them now; wil skel feil means now and then. Which is the word
for wil in that code language? / Tl W HIS UIST H, fil wil til BT 7w § tell them now; wil skel feil ®1 Faad

? now and then| I ®Is YT | wila?ﬁl'QWW%?
® now
e tell
¢ them
e then

Correct Answer :-now

13)

Question Stimulus :-

The below series uses a sequence of alphabets and numbers. Identify the incorrect

combination. / R & 75 ST &Rl TH TBATST BT SHH WANT HRAl 7] Tad HAleH Ugd=a|

(i) TT4#6ST7

(ii) TT4#6ST7

(22)



(i) TT4#7ST7

(iv)TT4#6ST7
° i
o i
o iii
e iv
Correct Answer :-iii

14)
Question Stimulus :-

A merchant loses 10% by selling an article. If cost price of article is Rs. 15. Find its selling price? / Y&

HTIR! B TP ag ITB 10% D1 g1 Bl 81 Al a¥g Dt ANTd G 15 U 8| ST faeh! Tod |1 8?2
* Rs.13.50/FUg13.50
e Rs.12.50 /+uz 12.50
e Rs. 11.50/%FUg 11.50
e Rs.10.50/%ug 10.50

Correct Answer :-Rs. 13.50 / =UU 13.50

15)

Question Stimulus :-

Complete the following sequence of figures. / Wﬁﬁ:ﬁ & g w0 3t R B

=] (=] ‘ | ?

(23)



[m]

O

Correct Answer :-

16)
Question Stimulus :-

How long does a train 120 meters long running at the speed of 66 km/hr take to cross a bridge 155 meters in length?/

%ﬁlﬂ/ﬂaﬁnﬁﬁwﬁmﬁﬂmrﬂaaﬁrwﬁﬁ155:ﬁ‘aatégﬁaﬁuwmﬁﬁmmw

® 12sec/12 '\aﬁ
® l4sec/14 qJbs
® ]15sec/ 15 AHs
® 18sec/18 dbs

Correct Answer :-15sec/ 15 P

17)

Question Stimulus :-

(24)



Complete the series choosing the missing letter/s: / ﬁﬂ'l?[ &R gADY adr o1 A ?ﬁﬁrm{ :

a_baba_b _bba_aab

® abab

® baab

® bbaa

® aabb
Correct Answer :-baab
18)

Question Stimulus :-

Pipes A and B can fill a tank in 10 and 12 hrs respectively. Pipe ‘C’ can empty it in 18 hrs. If all the three
pipes are opened together, then the tank will be filled in: / URT A 3R B U & &1 AT 10 3R 12 Hel
# WX THd &1 UIST C’ 39 18 Hel § TMell $- IFpdl g1 e @i wrsul B THH 9 R A1, fhar -, @t
TP P WA N g9 IHY T

11 11
«7 Phrs/7 P ue

=) )
« 7B hrs/7 3 W

Ly

13 13
7 P hrs /72 He

7

7
«7 “hrs /7 * ue

1% 19

Correct Answer :-7 =3 hrs / 7 23 e

19)
Question Stimulus :-

Which one of the following four addresses is NOT EXACTLY the same as the one given

below? / ¥ 28 & IR udi § 4 i R T ud & St IHHE HIF T TF T8I 82

Councillor: Heather Johnson (Labour)
Telephone:020 7974 2792

(25)



Email:heather.johnson@camden.gov.uk

(i) Councillor: Heather Johnson (Labour)
Telephone:020 7974 2792
Email:heather.johnson@camden.gov.uk

(ii) Councillor: Heather Johnson (Labour)
Telephone:020 7974 2792
Email:heather.johnson@camden.gov.uk

(iii) Councilor: Heather Johnson (Labour)
Telephone:020 7974 2972
Email:heather.johnson@camden.gov.uk

(iv) Councillor: Heather Johnson (Labour)
Telephone:020 7974 2792
Email:heather.johnson@camden.gov.uk

Correct Answer :-iii

20)
Question Stimulus :-
Complete the series choosing the missing number: / AW T-T TAH @1 B T DI :

2,6,18,54,
® 98
° 132
® 140
* 162
Correct Answer :-162
21)

(26)



Question Stimulus :-

The product of 103,102 and 98 is /103,102 3k 98 &T TUF®d 3
e 10,229,588
e 100000
e 1
e None of these / 94 d B3 T8l

Correct Answer :-10,29,588

22)

Question Stimulus :-

1é+ {2_1 — (5+2-3)} - 3l 1é+ {21 — (5+2-3)} - 3L
Simplify: - 3 2/ wa #fm: 3 3 2
11
« 4 0
11
e =4 50
11
« 3 a0
11
« —3 30

Correct Answer :-— 4

23)
Question Stimulus :-

19x19/19-14+ {390/10+11}=?
e 52

e 48

(27)



e 50

e 55
Correct Answer :-55
24)

Question Stimulus :-

The word SYSTEM is coded as SYSMET and NEARER as AENRER. Using the same code, write
FRIEND. / U® Hibhidd HIHT BT YINT Hd §E UG SYSTEM S SYSMET & U # Td NEARER &I
AENRER & & # foran a1 8| 99 Jobd &7 YANT Hvd §¢ FRIEND ford

® FRIDNE
® |IRDEND
® |RFDNE
® |FREDN

Correct Answer :-IRFDNE

25)
Question Stimulus :-

What is the average of squares of first five prime numbers? / Ugd! UTd 37 H&ITHT & T BT
3T T 82

* 41,2
* 41.4
® 41.6
® 41.8
Correct Answer :-41.6

26)
Question Stimulus :-

A number was first increased by 10 percent and then it is further_increased by 20%. The
increase altogether as compared to the original number is / TP H=IT PI Ugd 10 Ula=d deidl
ST 8 3R fR S/ 20% 3R ¢/ ST 81 Hal WS &1 ga-1 § Jquf ged gift

* 15%

(28)



* 30%

* 32%

* 36%
Correct Answer :-32%
27)

Question Stimulus :-
In a certain code language, dona hona khona means send by post; demk dona delf means beyond red post.
Which is the word for dona in that code language? / {5t @ HIS YT H, dona hona khona &1 #aed & send
by post; demk dona delf &1 Haad & beyond red post | 31 PIS YN H dona & ﬁﬂ'{ HT o %?
* send
® beyond
® post
® red
Correct Answer :-post
28)
Question Stimulus :-

In a school the total strength is 150. If the number of boys is x, then tr_le nun_nber of girls
becomes x% of the total strength. The number of boys is/ T& fdemed ¥ $a I= 150%[ gfe
ASHI B WRAT x §, <l ASfhdl Pl TS $d TBAT B x% Bl Tt 31 ASHI B TBAT 8

* 40
« 50
e 60
e 90
Correct Answer :-60

29)
Question Stimulus :-

If JKLMNO is coded as ACTVSRX, what will be the code for KILL? / Tf& DKLMNO &I ACTVSRX & BIf&d forar SiTdr

g, d@l KILL & o) <1 e g

(29)



e TVSS
e TAXX
* TAVV
* TSVV

Correct Answer :-TAVV

30)
Question Stimulus :-

In the following qpestipn, one term in the number series is wrong. Find out the wrong
term. / 9 vy ¥, T@ $9e § TS Ug Wod 8] T9d UG ¥ ®ifv@| 11,2,21,3,32,4,41,5,51,6

e 21
e 11
e 32
e 51
Correct Answer :-32

Topic:- Science and Simple Arithmetic
1)

Question Stimulus :-

Internal fertilization is foundin____ / 3{Td} IGLEE] Eﬂ'ﬁ U ST % -
®* Frog / Hed
® Salamander / Jddrey
® Fish/ S
® Lizard /ﬁmﬁ
Correct Answer :-Lizard / fSuselt
2)
Question Stimulus :-

The measure of an angle is thrice the measure of its supplementary angle. Find its measure. / Y% PN BT HH IHD

RS S0 F 4 A1 31 3TPT 7Ty fApiferg)

(30)



® 45°

e 135°

® 60°

e 90°
Correct Answer :-135°
3)

Question Stimulus :-

Answer the questions on the basis of the information given below. IS EK TF.% TSR &
STYR TR U & SR oY

Uptrend in two wheelers (in lakh numbers)

[T} o o
% = ]
] 2 o =
- -+ _ = ; - : ?
E 5
1999 2000 2001 2002 2003 2004

| o Scooter O Motorcycle ol opeds |

If in 2005, the production of two wheelers is expected to be 19 lakhs, what is moped
production? (Assume share of mophed production in total production is the same as
the average share of moped productions for years 2003 and 2004) / afe 2005 ®, € ufgar

el BT STHTA SUTGT 19 ARG &I, 99 WIS BT TG T §RM? AT o {6 $a SdTe" | HAIUS
IAUTEH BT foT, a9 2003 TH 2004 & fIT A0S IAUTEH & 3iad e & 99 21

e 5.3lakhs / 5.3 99

® 4.7 lakhs / 4.7 did

® 6.2 lakhs / 6.2 WId

® 9.7 lakhs / 9.7 °iid

Correct Answer :-5.3 lakhs / 5.3 dd

4)

(31)



Question Stimulus :-

Musical Instrument Flute produces sound using / aTe] 3 TIgRT BT IYANT B eaf~ AT Bl g

® Membrane / Bdl

String / dIR

Air column / AT &

Hollow pipe /@@?ﬁ et

Correct Answer :-Air column / dTg ™

5)
Question Stimulus :-

Use the following graph to answer the question. / U¥ F I aﬁ & ﬁl’E CiE| ﬁ"l,’ T YTH BT TORT B3 |

Marks scored

Avinash Bhasker Champa Divakar Srram Anuradha

How many marks has Sriram scored more than Bhasker? / R C] HIEHIY @ fraq arfte 3i Ured ﬁ»‘q %'?
e 12
e 8
e 18
. 14
Correct Answer :-14

6)

(32)



Question Stimulus :-

The volume of a sphere of radius ‘r’ is given by ./ BT v & Mea® BT A gRT1 fear srar

g

Y

88
21
Correct Answer =~
7)
Question Stimulus :-

If the volume of a sphere is divided by its surface area, the result is 27 cm, then the radius of the sphere is

I |
%ﬁaﬁmmmwmﬁﬁwﬁmmmﬂ,?ﬁmnﬁmﬂhﬁwﬁﬁm

® 8lcm

® 9cm

® 54cm

® 36cm
Correct Answer :-81cm
8)
Question Stimulus :-

The positive terminal of a battery is always connected to the / St BT YFTHD

RrT 9T ¥ YT vear @
® Shorter end of an LED/QE'&‘EPI%FFQ&I%@

® Longer end of an LED /Eﬂi@ﬂ FERR A
(33)



* Neutral end of an LED / T@SS! & IeRiH R 4
® Negative end of an LED /Eﬁ'&‘%& & BUTHS R A

Correct Answer :-Longer end of an LED /Qﬁ'&%’f * 'cﬁ"if R

9)

Question Stimulus :-

The statement among the following is always true. / Fafafea 4 3 o=
Hea 9 g

® The difference of the squares of two consecutive natural numbers is equal to their product / a

PUNTA WP iae TBATH F T BT 3R I9P UMb & JHMH il gl
e Al nélmbers that end with '00' will be perfect squares / 4t T@=ITC <1 00’ A W gl &, 399 o
gial €1

® A number that leaves a remainder of 2 when divided by 4 is a perfect square / TPh Jen o’ 4 9
R o3 @ 2 v Siedt 8, snexf a1 gidt 81

®* No square number can be the double of another square number / ﬁs‘ T Te fredt o=
7 S=I F g T & gt gl

Correct Answer :-No square number can be the double of another square nhumber / ﬁ'é’
a1 e Pt e it e Bt g T 8 ot B
10)

Question Stimulus :-

The blood vessels which supplies oxygen and nutrients to the tissues and collect waste and carbon dioxide are known

/3o PRI S SHas! # ATRIeH 3R Tius dcal @ gfel el § 37 rufiy qur Srad
m&mmwaﬂ?ﬁ% 0§ ot STt @1

® The pulmonary veins / PUpH RRTE

® The pulmonary arteries / PUpY et
® The renal arteries / &P B Yt

® The capillaries / WI'G

Correct Answer :-The capillaries / BIRAHTT

11)
Question Stimulus :-

(34)



Which of the following objects is not a member of the Solar system? / g & @ 319 T1 fYus TR ufvar &1

e e &
® Sun /ﬁ!f
e sirius / Fafvaw
® Asteroids / &sUe
® Earth /f{?iff
Correct Answer :-Sirius / Rifvas

12)

Question Stimulus :-

The fires in electrical appliances is caused due to / ﬁ'g??ﬁ JUHIUN H 3R T BT HROT gl g
® Short circuits / TLUYT
® QOver loads / SfYUR
* BothA & B/ ATd B GHI
® OnlyA / $ad A
Correct Answer :-Both A & B / A T4 B Gl
13)

Question Stimulus :-

Name the instrument used for soil preparation? / Hal e & ﬁ'ﬁ[’ Ugdd G BT 919 IdT13?
® Harvester / 99 i
® Thresher/ QT-'Z'I'\"
® Sprinkler /@W
® |eveler / HHdAD
Correct Answer :-Leveler / GHd PR
14)
Question Stimulus :-

Use the following graph to answer the question. / U¥ F I aﬁ & PQ'I'E H= fa'Q RIS I G | TIRT B3 |
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Marks scored

90 -
80 4
70 -
60 -
50 -
40 -
30 4
20

10

il

Avinash Bhasker Champa Divakar Srram Anuradha

Who received the highest marks? / fraa erftepay sie Ut ﬁﬂ! %?
® Champa/ gar
® Anuradha / SISRTHT
® Avinash/ 3rfa=rsr
® Bhasker / HT¥hX

Correct Answer :-Champa / dul

15)

Question Stimulus :-

A number when divided by 342 gives a remainder 47. When the same number is divided by 19, what would be the

remainder? / TP TSI P 342 | AUINIT H1 W 47 3@V firerar g1 w9 ST J=1 &1 19 v &3ar
39RIY T §RIT?

° 47

Correct Answer :-9

16)

Question Stimulus :-

(36)



During old age, eye sight becomes foggy because the eye lens becomes / KTaRIT & ?ﬁTF-T, SERS T ?{&Iﬁ E?f

e Wide /e

L Narrow/w
* Cloudy / §trat

° EIongated/T:ﬂﬁ?r

Correct Answer :-Cloudy / 4t

17)
Question Stimulus :-

The length of a rectangle is increased by 50%. By what percent would the width have to
be decreased to maintain the same area? / T& 314d $1 GWTE 50% I TeT df S &1 AN AThd
TAC W & fore dierg &Y fra ufa=ra gemr sim?

* 30%

® 60%

® 200/3%

® 100/3%
Correct Answer :-100/3%
18)

Question Stimulus :-

In the given figure, AB is a mirror; PQ is the incident ray and QR, the reflected ray. If LPQR
= 1369, find the LPQA / & T ar%fa ¥, AB U® giur §; PQ U 3imufad farwur § 3k QR, uRafda fazur
g1 3fe LPQR = 1369, dl LPQA fAwmiferg
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o 22°

® 44°
Correct Answer :-22°
19)

Question Stimulus :-

A sum was put at a certain rate of interest for 3 years. Had it been put at 2% higher rate, it would have fetched Rs. 72 more.

The sumis: / T Y=RIRI &1 3 991 & forw fpdt Afda sorer a7 wR @ man afe 3/ 2% ufazra oifte R w®
@M T e, f S 72 = SIS U ¢ €l YRR §:

® Rs.1,250
® Rs. 1,400
® Rs. 1,500
® Rs. 1,200

Correct Answer :-Rs. 1,200

20)
Question Stimulus :-

Answer the questions on the basis of the information given below. IEIEK Tl'sc PRI &
ATYR R Yl & TR GIfog

Uptrend in two wheelers (in lakh numhbers)

- —
o 2 @
=11 o el
0 ] E _ E o
[ﬂ = [aJ] . -
3 o
1989 2000 2001 2002 2003 2004

o Scooter OMatorcycle ol opeds

If the average prices of scooter, motorcycle and moped are Rs 11500, Rs 17500 and Rs
6500 respectively then, what was the approximate value of total production in year
2004? /9fe T@ex, HicTATR [$d 3R AIUS P NTd DI HH FUT 11500, TUT 17500 31 FTUT 6500
2, 99 9¥ 2004 T $& SUTGT DT Yo TIHIT fHaT 412
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* Rs.29900 cr. / ¥UT 29900 FRIS

* Rs.1990 million / ¥YT¢ 1990 fieia=
® Rs.247 cr. / ¥UU 247 BS

* Rs.1990 cr. / ¥UT 1990 FRIS

Correct Answer :-Rs.1990 cr. / ©UT 1990 FRIS

21)
Question Stimulus :-

Use the following graph to answer the question. / U4 F I a'el & f%I'Q' EiE] %E T YT BT TIRT B3 |

Marks scored

Avinash Bhasker Champa Divakar Srhram Anuradha

By what percentage is Champa’s score more than that of Avinash’s? / TUT J 3rfqam=r ¥ fpaq ufa=a o sifte

U fpu g2
° 12%
e 9.89%
* 14.14%
e 18.18%

Correct Answer :-9.89%

22)

Question Stimulus :-

(39)



Halley’s comet appeared in the inner parts of the solar system in 1986. The next time this comet becomes

visible from the earth will be in the year / 8¢t YH®g, WX IR F iaives UTT & 1986 § fezars faam ari
TRt AR U YHPq fpa af # gedt | feward e

® 2076
e 2061
® 2086
® 2026
Correct Answer :-2061

23)

Question Stimulus :-

Which of the following is correctly matched? /ﬁ’g ¥ Q o9 I e '\‘T{?f %?
® Transpiration ---stomata / U@F - Y
® Absorption of water---stem / ST¢l DI ST T
* Transport of food ----leaf / WM HT URTEH ---- U=l
® Preparation of food------ root / WT€] DI fafdfe - oS
Correct Answer :-Transpiration ---stomata /T\‘aﬁ — Y
24)
Question Stimulus :-

tat A tat A

Evaluate "% ifA = 65° and B = 25° / %% %14 feMw alR A = 65° 3R B= 25°

® tan 65°

Correct Answer :-1

25)

(40)



Question Stimulus :-

Which is the rabi crop that is also a pulse? /ﬁq It 7t &t wad % S qld ot %?
L Mustardlw
° wheat/ﬂ'ﬁ.'
® Gram / |91
®* Maize / HIDI
Correct Answer :-Gram / 91
26)

Question Stimulus :-

Fresh grapes when placed in salt solution shrivels ,because the salt solution is /Tﬂﬁ GI"R Wd @9l & faea=

#F 7@ oA € a1 3 Rrpe 913 § RifS dan o1 fRegTe
* Hypotonic / STCUIRTHRY
® Hypertonic / STTATRTATRY
* Isotonic / FHURNRI
® None of the above / SIRIF H ¥ PI ol

Correct Answer :-Hypertonic / SITAURTHTRI

27)
Question Stimulus :-

Which of the following is not a prime number? / IGE) T A DT 3 Q’I@TT{?[%’-’
® 191
e 241
* 337
® 356
Correct Answer :-356
28)

Question Stimulus :-
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A boy 160 cm high stands in front of a plane mirror. His eyes are at a height of 150 cm from thg floor .Then
the minimum length of the plane mirror for him to see his full Igngth image is / Y& 160 It S ASDHI Uh
THad SUUT & ATHA WST 31 ST 3HTE BRI F 150 AH Ft Sa18 W T 99 39 AT gUul B gAqH
TS o el T 9t dewT SuH orum ufafara $t Y avars 3w e

® 40 cm /40 THT

e 80cm /80 IHl

* 160 cm /160 Tl

* 320 cm /320 TH
Correct Answer :-80 cm / 80 9H1
29)
Question Stimulus :-

Electrolysis of a solution of sodium chloride produces / TIfSTq FRISS & faera- &1 fagaa sruwes Iad
AT 8

¢ Hydrogen gas at cathode /a??.ﬁ_s' W E’IE@FFT e}
® Chlorine at anode /QT-ﬁS' R R I

e Sodium Hydroxide / &Y IS SIS S

e All of the above / SWRI&d F+t

Correct Answer :-All of the above /m Taft

30)
Question Stimulus :-

If the amplitude of sound is doubled, then its loudness increases by /Tlﬁ' tafr &1 ATy ?ﬂ'{F-IT CX§ ﬁ'CIT

1Y, 9t S9! Yaea | i ertt
* Fourtimes / TR AT
e Six times / B8 JAT
* Eight times / 316 TAT
® Sixteen times / '\“ﬁﬂ's' BIGL

Correct Answer :-Four times / dIR T
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